1 < S a o} Lo} [l
A |
magnets 1D 1/2"x1/2" n°32 =+
B B
-~ |
ST~ bunting magnets NEP 3054 NP |
-f 1/2" diameter. 1/2" height ‘
c |
|
— | (-
|
|
| |
|
|
|
b |
|
|
|
| |
] i — 7
|
|
|
E qu |
" I
‘ (32
] = i /
N
Znz
r
G .
—in the central tube only
b 66 "
AD-LIGO
I
i modified part 32 18-06-06
N added_note [25-02-06
- et nore aare siananre
mod +icat ions
39 | 137 [smll flex joint bose pl. |
1 38 | 137 [1/2 cup retainer
AD-L 160 37 137 |fop leg disk 95 | 154 |mognets support
36 | 137 [smai1 frex joint|| 94 [154 [magnets separator
35 [136 | IP leg 71| 138 |Adv.LIG flex joint base
34 137 | flex joint connector| | 67 | 135 |flex joint base
33 | 138 | mint. locking screw| | 66 | 135 |Adv-LIGO ext. spool
B 32 | 138 | safety tube 63 | 136 [C. weight
31 | 136 | L160-1 sofety tupe ext| | 62 [ 136 [o. weignt bell
30 [135 [ main flex joint || 41 [137 [disk
NOTE: The details 93 and 30 must be aligned 29 [ 135 |LIGO-1 flex joint base | | 40 | 137 |1/2 cups
T Tommy heod Wox35 5 and siip fit with the details 71. 67. 29 ror. | on s 1530 ror. | wone e 130
3837 Tommy hood M3x12  (S) P The moss of individual parts must be weighted —
. 39-41 ‘tommy head M4x12 B and recorded. R.De Salvo
31-32 tommy head M10x25 _ (s) 16 The length of this assembly must be checked., £3@&| LIGO PROJECT T o ar o PROMEC L
1-31 tommy heaod M10x30 16 and if necessary odjusted. to moke legs of e 26-12-04
1-29 tommy head M10x30 16 equal length within 0.1 mm. title
Jetarl Type npiec. HAM-OPTICAL TABLE |L1G0-D051107-02-D
Screw' s table INVERTED PENDULUM GR.2 ey ‘A 1




